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How many Propositional forms gre there in

olic logijc? Explain with cxamples.
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What is Conversion by Limitation'
What fallacy will occur 1f we draw a

particular conclusion from a_ universal

premiss?
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What is a 'Cause'. according to 1. M, Copi?
. M. Copi-a ¢ i’ &
When 1s a conjunctive propositional-form

false?
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Which of the Mill's method is called "Method

~of Double Agreement'?
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symbolic logic?
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h)  Give an cxample of Fallacy of 'Undistributed
Middle', |
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Answer any four questions: - 6x4=24
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a)  Give Boolean inte‘rprctation and' test the

following arguments by Venn diagrams (any
two): 3x2=6
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Ww—Ti1) This syllogism Must be valid, because
it has three terms Just g

syllogisms have.

s all valid

-

b3 a7 Yfefh YT Pay T = K,-JF*
7 U, N S % &7 gyran

Scanne d with CamScanner

——



